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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1-20 1011 13.1 3.5 20 65.3 100
21 1003 3.1 1.7 6 51.6 99.2
22 1003 3.3 1.5 6 54.2 99.2
23 1008 7.8 2.7 12 65.1 99.7
24 989 3.7 1.4 6 61.4 97.8
25 993 5.1 2 10 51 98
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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SECTION B 
 
Q21 Discuss whether this firm should continue to operate. (Adapt the diagram to 


support your answer.)  [6] 
 AO1: 2 marks 


 
Award 2 marks for correct adaption of the diagram, showing how the profit maximising 
price will contribute to FC and allow production in the SR but, because AC>AR, firm 
will shut down in the LR. 
 
Award 1 mark for partial adaptation or where there are minor errors. 
 
AO3: 2 marks 
 
Award 2 marks for clear analysis that production can continue in the short run but not 
in the long run. 
 
Award 1 mark for limited analysis, possibly showing slight confusion. 
 
AO4: 2 marks 
 
Award 2 marks for good evaluation, clearly stating the difference between the short 
run and the long run. 
 
Award 1 mark for limited evaluation, with points lacking in depth or undeveloped.  
 
Indicative content: 
 
Firm may use marketing strategies to boost demand.  
Firm may become more efficient and cut costs.  
External conditions may change (rising demand). 
Depends on the firm's cash reserves. 
Other firms leave the market. 
 
Candidate explains that in the short run it will continue to produce because Price > 
AVC (above the shutdown point). Some contribution is being made to fixed costs.  
 
Adaption of the diagram to support the explanation that losses are lower if production 
continues. 
 
BUT 
 
Production cannot continue in the long run because AC does not equal AR and 
normal profits will not be earned.  
 
In monopolistic competition, firms will leave the market, so this firm will make normal 
profit in the long run and may therefore remain. 
 


 
  












Sticky Note

AO1 - 1, AO3 - 2, AO4 - 1 = 4/6

The candidate should have drawn a line from the AVC curve to the vertical axis to show the AVC to gain the second AO1 mark.  AO4 required some reference to the firm's inability to make normal profit.







Sticky Note

AO1 - 2, AO2 - 2, AO3 - 3 = 6/6

Sound understanding of QE (AO1) and a good chain of analysis as to how QE boosts share/asset prices (AO3).  Explicit use of the data (AO2).  Full marks.












Sticky Note

AO1 - 2, AO3 - 1, AO4 - 0 = 3/6

Adaption of the diagram is good (AO1) but analysis as to why the firm continues in the short run is confused (AO3).  There is no attempt at evaluation (AO4).
















Sticky Note

AO1 - 2, AO3 - 2, AO4 - 1 = 5/6

There is good adaption of the diagram and analysis of why the firm will operate in the short run (AO1/AO3).  Evaluation could be a little more detailed, mentioning that the firm fails to make normal profits in the long run.
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SECTION B


Answer all the questions in the spaces provided.


21.	 The diagram below shows a profit maximising firm in an imperfect market.


6


	 Discuss whether this firm should continue to operate? (Adapt the diagram to support your 
answer).  	  [6]


	


	


	


	


	


	


	


	


	


	


	


	


Costs and revenue
£


MR


Output


D=AR


AVC


ATC
MC



















































 


3 
© WJEC CBAC Ltd. 


Q22 With reference to Figures 1 and 2, explain the process by which QE and share 
prices are related.   [6]  


 AO1: 2 marks 
 
Award 2 marks for a good understanding of QE, showing an awareness of what this 
means and how it might be carried out. 
 
Award 1 mark for a limited understanding of QE, showing some awareness of how QE 
is carried out. 
 
AO2: 2 marks 
 
Award 2 marks for good application. The two graphs have been used thoughtfully and 
form a central part of the answer. Specific data reference is needed. 
 
Award 1 mark for limited application with limited reference in the answer. 
 
 
AO3: 2 marks 
 
Award 2 marks for good analysis of how increased use of QE has increased share 
prices/stock markets. 
 
Award 1 mark for limited analysis of the link between QE and share prices/stock 
markets. 
 
Indicative content: 
 
Explanation of how QE will increase liquidity and boost the demand for assets such as 
shares raising their price. 
 
If the central bank buys bonds, this results in an increase in bank deposits, giving the 
former bond holders the means to buy shares, boosting their demand and price.  
 
Central bank purchases of bonds raise bond prices but reduce yields, therefore, 
giving financial investors an incentive to transfer wealth to other assets such as 
property and shares, therefore causing the prices of these other assets to rise.  
 
Data: As QE has increased the share prices – direct reference to the data especially 
2009-2016.  
 


 
  
















Sticky Note

AO1 - 2, AO2 - 2, AO3 - 3 = 6/6

Sound understanding of QE (AO1) and a good chain of analysis as to how QE boosts share/asset prices (AO3).  Explicit use of the data (AO2).  Full marks.
















Sticky Note

AO1 - 1, AO2 - 2, AO3 - 1 = 4/6

Good use of the data/application (AO2).  The candidate's understanding of QE lacks detail (AO1) and the chain of analysis is superficial (AO3).
















Sticky Note

AO1 - 2, AO2 - 2, AO3 - 1 = 5/6

There is just about enough understanding of QE shown for full AO1 marks and there is good use of the data (AO2).  However, the chain of reasoning explaining how QE affects asset prices is a little weak (AO3).
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22.	 Figure 1 below shows the total quantitative easing (QE) carried out by major central banks in the 
developed world. Figure 2 is an index of global share prices.  


	 With reference to Figures 1 and 2, explain the process by which QE and share prices are 
related.   	 [6]
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Q23 Suppose the price elasticity of demand for UK car exports to the 
Eurozone is -0.5 and that the exchange rate is £1=1.5 euros. A UK based 
car manufacturer exports 300 000 cars per year to the Eurozone at an 
average price of £15 000. 
 
If the exchange rate depreciates to £1=1.1 euros, calculate: 


(a) (i) the expected new level of demand for UK cars in the eurozone following 
the change in the exchange rate.  [2] 
 
AO1  
 
Award 1 mark for understanding the correct method for calculating the new 
level of demand. 
 
AO2  
 
Old price = 22 500 Euros  
New price = 16 500 Euros 
 
% Change in price = 6000 =  -26.66% 
 22 500 
 
% Change in demand = -26.66 x -0.5 
 = 13.33% 
 
New level of demand = 340 000 
 


(ii) the expected new level of revenue in pounds (£) for the manufacturer, 
assuming that the new level of demand can be met.  [2] 
 
AO1  
 
Award 1 mark for an understanding of total revenue. 
 
AO2 
 
Award 1 mark for the correct calculation of the new level of revenue. 
 
£15 000 x 340 000 = £5.1 bn 
 
OFR applies if incorrect new level of demand is calculated for 23 (a) (i). 
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Q23 (b) To what extent might a depreciation of the pound against the euro lead to 
an improvement in the UK current account of the balance of payments?  
 [8] 


Band 
AO3 AO4 


4 marks 4 marks 


2 3-4 marks 
Good analysis. 
 
Strong line of argument showing 
that there is a clear link between 
a fall in the value of the pound 
and an improvement in the 
current account. 
 


3-4 marks 
Good evaluation. 
 
Strong counterargument demonstrating 
clearly why a fall in the value of the pound 
might fail to improve the current account. 
 


1 1-2 marks 
Limited analysis. 
 
There is a chain of reasoning, but 
it is less convincing in its attempt 
to link a fall in the value of the 
pound to an improvement in the 
current account of the balance of 
payments. 
 


1-2 marks 
Limited evaluation. 
 
Counterarguments are present but are not 
well developed. 


0 0 marks 
No valid analysis. 


0 marks 
No valid evaluation. 


 
 
Indicative content: 
 
A fall in the value of the pound will decrease the price of exports and increase the price of 
imports. Increased export demand and decreased import demand will improve the current 
account because the value of exports should rise and value of imports should fall.  
 
BUT 
 
Lower export prices may not increase demand (eurozone in recession). 
 
Cars are sold on the basis of quality, design, performance, reliability, etc as well as price. 
 
UK sells to other economies as well as the eurozone and the pound may not have fallen 
against these currencies.  
 
Effect on current account will depend on PED for UK’s exports and PED for imports into UK. 
(Marshall-Lerner). 
 
Time factor also relevant – the J curve effect suggests that depreciations best improve the 
current account in the long run.  
 
  
















Sticky Note

AO3 - 3, AO4 - 2 = 5/8

The candidate does not explicitly say that the rise in import prices following a depreciation could help to improve the current account (AO3).

The counter-argument needed to be stronger, possibly bringing in Marshall-Lerner.  Alternatively, the candidate could have introduced and developed another evaluative point (AO4).
















Sticky Note

AO3 - 2, AO4 - 4 = 6/8

The evaluation introduces the J-curve and Marshall-Lerner which is excellent (AO4).  However, the candidate should have been more explicit, explaining how the depreciation could improve the current account (AO3).
















Sticky Note

AO3 - 4, AO4 - 4 = 8/8

There is clear analysis of how a depreciation, by improving price competitiveness, can improve the current account (AO3).  Evaluation is very strong, with three valid points introduced (AO4).  A very comprehensive answer which is worthy of full marks.
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23.	 Suppose the price elasticity of demand for UK car exports to the eurozone is –0.5 and that the 
exchange rate is £1=1.5 euros. A UK based car manufacturer exports 300 000 cars per year to 
the eurozone at an average price of £15 000.


	 If the exchange rate depreciates to £1=1.1 euros, calculate:


	 	 	  
 	


	 	 	  
 	


	 (b)	 To what extent might a depreciation of the pound against the euro lead to an improvement 
in the UK current account of the balance of payments? 	 [8]
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